

1 ביטוי פשוט

$$1. \sum (x_i - \bar{x})^2 = \sum (x_i^2 - 2x_i\bar{x} + \bar{x}^2) = \sum x_i^2 - 2\bar{x} \sum x_i + \sum \bar{x}^2$$

2 וביטוי פשוט

$$\sum x_i^2 - 2\bar{x} \cdot n\bar{x} + n\bar{x}^2 = \sum x_i^2 - n\bar{x}^2$$

$$\sum (x_i - \bar{x})^2 = \sum (x_i - \bar{x})(x_i - \bar{x}) = \sum x_i(x_i - \bar{x}) - \sum \bar{x}(x_i - \bar{x})$$

$$= \sum x_i(x_i - \bar{x}) - \bar{x} \sum (x_i - \bar{x}) = \sum x_i(x_i - \bar{x})$$

$$2. \sum (x_i - \bar{x})(y_i - \bar{y}) = \sum (x_i - \bar{x})y_i - \sum (x_i - \bar{x})\bar{y}$$

$$= \sum (x_i - \bar{x})y_i - \bar{y} \sum (x_i - \bar{x})$$

$$\sum (x_i - \bar{x})(y_i - \bar{y}) = \sum x_i(y_i - \bar{y}) - \sum \bar{x}(y_i - \bar{y})$$

$$= \sum (y_i - \bar{y})x_i - \bar{x} \sum (y_i - \bar{y})$$

$$\sum (x_i - \bar{x})(y_i - \bar{y}) = \sum x_i y_i - \sum x_i \bar{y} - \sum \bar{x} y_i + \sum \bar{x} \bar{y}$$

$$= \sum x_i y_i - \bar{y} \sum x_i - \bar{x} \sum y_i + n\bar{x} \bar{y}$$

$$= \sum x_i y_i - \bar{y} \cdot n\bar{x} - \bar{x} \cdot n\bar{y} + n\bar{x} \bar{y}$$

$$= \sum x_i y_i - n\bar{x} \bar{y}$$

3 וביטוי פשוט

$$1. \bar{x} = \frac{\sum x}{n} = 10$$

$$2. \bar{y} = \frac{\sum y}{n} = 12$$

$$3. \bar{x}^2 = 10^2 = 100$$

$$4. \overline{x^2} = \frac{\sum x^2}{n} = 120$$

$$5. s_x^2 = \frac{\sum x^2}{n} - \bar{x}^2 = 20$$

$$6. s_y^2 = \frac{\sum y^2}{n} - \bar{y}^2 = 16$$

$$7. s_{x,y} = \frac{\sum xy}{n} - \bar{x}\bar{y} = 16$$

$$8. s_{3x, -2y} = 3 \cdot |-2| s_{x,y} = 96$$

$$9. s_{x+y}^2 = s_x^2 + s_y^2 + 2s_{x,y} = 20 + 16 + 2 \cdot 16 = 68$$

$$10. s_{x-y}^2 = s_x^2 + s_y^2 - 2s_{x,y} = 20 + 16 - 2 \cdot 16 = 4$$

1 ביטוי פשוט

$$11. \int_{3x-2y}^2 = \int_{3x}^2 + \int_{2y}^2 + 2 \cdot 3 \cdot (-2) \int_{xy} = 3^2 S_x^2 + 2^2 S_y^2 + 2 \cdot 3 \cdot (-2) \cdot 16 = 3^2 \cdot 20 + 2^2 \cdot 16 + 2 \cdot 3 \cdot (-2) \cdot 16 = 52$$

$$12. \int_{3(x-y)}^2 = 3^2 S_{x-y}^2 = 3^2 \cdot 4 = 36$$

$$13. \sum x^2 = \sum X^2 - n \bar{X}^2 = 600 - 5 \cdot 10^2 = 100$$

$$14. \sum y^2 = \sum Y^2 - n \bar{Y}^2 = 800 - 5 \cdot 12^2 = 80$$

$$15. \sum xy = \sum XY - n \bar{X} \bar{Y} = 680 - 5 \cdot 10 \cdot 12 = 80$$

$$16. \sum xX = \sum x^2 = 100$$

$$17. \sum xY = \sum xy = 80$$

$$18. r_{x,y} = \frac{\sum xy}{\sqrt{\sum x^2 \cdot \sum y^2}} = 0.8944$$

$$19. r_{x,y}^2 = 0.8$$

$$20. \int_{zx,zy} = 0.8944$$

4 חלקי מד

$$1. \bar{X} = 49.676 \quad \bar{Y} = 214.452$$

$$S_x = 11.535 \quad S_y = 52.936$$

$$2. r_{x,y} = 0.638$$

5 חלקי מד

$$1. \sum w_i = \sum \frac{x_i}{\sum x_i^2} = \frac{\sum x_i}{\sum x_i^2} = 0$$

$$2. \sum w_i^2 = \sum \left(\frac{x_i}{\sum x_i^2} \right)^2 = \frac{1}{(\sum x_i^2)^2} \cdot \sum (x_i)^2 = \frac{1}{\sum x_i^2}$$

$$3. \sum w_i \cdot x_i = \sum \left(\frac{x_i}{\sum x_i^2} \cdot x_i \right) = \sum \frac{x_i^2}{\sum x_i^2} = \frac{1}{\sum x_i^2} \cdot \sum x_i^2 = 1$$

$$\sum w_i \cdot x_i = \sum w_i (X_i - \bar{X}) = \sum w_i X_i - \sum w_i \bar{X} = \sum w_i X_i - \bar{X} \sum w_i = \sum w_i X_i - \bar{X} \cdot 0 = \sum w_i X_i$$

293 - 1 חלקי מד

$$k \quad E(\bar{u}) = E\left(\frac{\sum u}{n}\right) = E\left(\frac{u_1 + u_2 + \dots + u_n}{n}\right) = \frac{E(u_1) + E(u_2) + \dots + E(u_n)}{n} = 0$$

$$V(\bar{u}) = V\left(\frac{\sum u}{n}\right) = \frac{1}{n^2} V(\sum u) = \frac{1}{n^2} V(u_1 + u_2 + \dots) =$$

$$= \frac{1}{n^2} [V(u_1) + V(u_2) + \dots + 2\text{COV}(u_1, u_2) + \dots]$$

$$= \frac{1}{n^2} \cdot n V(u) = \frac{V(u)}{n}$$

$$r \quad E(y) = E(x_1 u_1 + \dots + x_n u_n) = E(x_1 u_1) + \dots + E(x_n u_n) = x_1 E(u_1) + \dots + x_n E(u_n) = 0$$

$$V(y) = V(x_1 u_1 + \dots + x_n u_n) = V(x_1 u_1) + \dots + V(x_n u_n) + 2\text{COV}(x_1 u_1, x_2 u_2) + \dots$$

$$= x_1^2 V(u_1) + \dots + x_n^2 V(u_n) + 2x_1 x_2 \text{COV}(u_1, u_2) + \dots$$

$$= x_1^2 V(u) + \dots + x_n^2 V(u) = V(u) \sum x_i^2$$

א. ...
 ...
 ...
 ...